
Time: 10 Minutes Paper G-Science 6 Total Marks: 10

1st Month, 3rd Week, 3rd Day Syllabus: Unit # 2, Fertilization, Seed formation

Q.No.1 Encircle the correct answer from the following choices. (0.563)


i. In which process, the sperm fuses with the egg to form zygote? 

 





(a) Pollination  (b) Fertilization 
(c) Seed formation  (d) Seed germination 








ii. The fusion of sperm with two polar nuclei in the ovule is called:


(a) Single fertilization  (b) Double fertilization 
(c) Triple fertilization  (d) None of these 
iii. After fertilization, zygote develops into:  






(a) Embryo   (b) Flower  (c) Fruit  (d) All of these 
iv. In which process, the ovule containing embryo become expand?


(a) Pollination  (b) Seed germination 








(c) Fertilization  (d) Seed formation 
v. The embryo grandually develops into: 
(a) Cotyledon  (b) Plumule 
(c) Radicle  (d) All of these 
vi. Which of the following contains food for the embryo?

 
(a) Seed cot  (b) Plumule  (c) Redicle  (d) Cotyledon 
Q.No.2. Write short answers. (224) 
(i) Define fertilization. 
(ii) What is fruit?Also write its function. 
Q.No.3. Write long answer. (3) 
(i) What is the difference between fertilization and seed formation?


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